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Rder:(i) 39 veT-u7 § ot 25 e &1 et v siferard &)

Directions: There are in all 25 questions in this question paper. All questions are

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

compulisory.

el &g FeiRa sid 396 TH 7 3ifdd

Marks alloted to the questions are mentioned against them.

Y Y Bl YIS Uled T T 3R alfore|

Read each question carefully and answer to the point.

U2 =T 1 Sgfadedia UeH 81 39 UeH & T® W@US & IR W IR faeed i e
&1 a2 ey 3 3R gRaeT § foRae | e < 2 9 7 e Fived soRia v
gl

Question No. 1 is multiple cheoice question. Four options are given in
answer of each part of this question. Write correct option in your answer
book. Question No. 2 to 7 are definite answer type questions.

9 T 8 I 13 T Yl Bl TR AT 50 Y& H alfore |

Question No. 8 to 13 are to be answered in about 50 words each.

o GRAT 14 17 T YD PT IR AT 100 &l H SMfore |

Question No. 14 to 17 are to be answered in about 100 words each.
e AT 18 T 24 db T P 37X T 200 & H AIfoTe |

Question No. 18 to 24 are to be answered in about 200 words each.

(viii) T2 =T 25 /A1 3MeRd 5 2|

(ix)

Question No. 25 is Case/Source based question.

= UeH-UF H THY W IS facheq el & Ty sfud ye=i H SR [ddbed Jar
o5 mar 21 ¥ yeHl § hact U fddbed BT & IR QIfore|

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the given

choices in such questions.
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1. (@) =83 o8 ye=u o 981 @I a2idr 8?9 1
()  ueE AT & faor # a1ees 21
(i) Y q 32T P wiftd Tl gl &
(i) E=er eman # g oxar 2l
(iv) 379 ¥ B el
Which of the following shows the importance of management?
(i) Management is barrier in development of society
(i) Objectives are not achieved through management
(ii) Management increases efficiency
(iv) None of these
(W) aeae S # fafim fawm &1 Fmior baie & e g = smenfRRa 82
1
(i) I @l (i) @ fas
(i) U & (iv) TEINT P YT
Creation of different departments in business organisation is based on
which principle of Fayol?
(i) Scalar Chain (i) Division of work
(iii)  Initiative (iv)  Exprit de corps
() Fr=foRea & @ oF g ardERer & darer gee J aitHferd &7 1
(i) ROR (i) PHARI
(i) I BT TG (iv) 399 P T8
Which of the following is included in external factor of environment?
(i) Government (i) Employees
(iii)  Owner of business (iv) None of these
(u) = & & i AIftreR 3iaRoT &t dg &7 ' 1
(i) 3EPR (i)  ITRaTRIT
(i)  STaTEcE (iv) 3IWIP I
Which of the following is element of delegation?
(i) Authority (i) Responsibility
(iii)  Accountability (iv)  All of the above
() Frgferaxor 4 wftafg 78 & - \ 1
() Wit iy TIq
(i) wfereror (iv) 399D
Not included in staffing :
(i) Recruitment (i) Selection
(iii)  Training (iv)  Publicrelations

[2]



(7) foxira yaerd & ol a1 ot kot 3R e (fod & 9ia) & Hea srgura & HeiRa

PRCT 2° 1
(i) oo ol Gy focia= ol
(iiiy ~ EmH o™ (iv) Hca fFofa

Which financial management decision determines the ratio between debt
and equity (source of finance)?

(i) Investment decision (i) Financing decision
(iii)  Dividend decision (iv)  Pricing decision
() = 9 oF a1 fguom &1 arf J&f 82 1
(. S (i)  sifsw
(i) faRor (iv) URagd
Which of the following is not the function of marketing?
(i) Insurence (i) Branding
(iii)  Distribution (iv) Transportation
(37) 37 §Us DI fGRIvAT &: 1
() ged = (i) TR
(i) 3PP (iv) 3WIp T
The characteristics of a good brand are:
() Short name (i) Memorable
(iii)  Attractive (iv) All of the above

Rder : U9 He&T-1 & 3TeT & WUSt H, & B! B B (A) TAT BRI (R) &
wy # fifeea fooar man &1 Fe=faRea fawedt (i), (i), (i) a1 (iv) ¥ | gAaR
2T Fal IR alfoTe|

Direction : In next two parts of Question No. -1, there are two statements labelled
as Assertion (A) and Reason (R). From the following options (i), (ii),
(iii) and (iv), select their correct answer.

(i) ATAT RS T& & GATR, A B &I AR Bl &
Both A and R are correct and R is the correct explanation of A.
(i) AT R A T & R R, A B A AR & Rl &
Both A and R are correct but R is not the correct explanation of A.
(i) A FE & TR R T &
A is correct but R is incorrect.
(iv) ATTR N Tad &
Both A and R are incorrect.
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(37) 3B (A) : o= ye=e1 &1 vh WAfHs B 2l
BRI (R) : =07 et yewerea TRl R &1 el e 2 1

Assertion (A) : Controlling is a primary function of management.

Reason (R) : Controlling is not applicable on all managerial levels.

(31) 3RBeF (A) : Frie 7 & safdr 21
BRI (R) : 159 v IRIRS 3199 21 1
Assertion (A) : Planning is wastage of time.

Reason (R) : Planning is a physical exercise.

2. T FrgReaRoT e B &2 ¢
Is staffing a management function?

3. Ffeyol srare o o fie gBR ot arenm &2 1
Which type of barrier is the faulty translation in communication?

4. Toomor orf # ardfad e o e fied s ol ST 82 1
With whom actual performance is compared in controlling function?

5. WRd # IR SER! BT RFAfE S a1l @=en &t T Tl 1

Write the name of body that regulates share markets in India.
6. U ye=or @1 e STITURON &1 T YRS B AT BF Tfe I &2 1
Which concept of marketing management is related with the satisfaction of

consumer's need?

7. T8 WRI T X 50,000 Hed & S A1 B BRI FMadem W fJare & Faror &g suvice &
fobeT STmamT & ST AfgEe 1
Which commission should a consumer go to for redressal of dispute when a

newly pruchased TV worth T 50,000 turns out to be defective?

8. U§®I & P ar 323 feilkaw| 2
Write any two objectives of management.
9. 3ityEniRe 3iR sFlvaRe Jed d ®1F <1 3R feiRav| 2

Write any two differences between formal and informal organisation.

433 (I1X) [4]



10, PHURG! @ RBROT & fore i 579 a1t @18 @ faelrar ieare= fafae 2
Write any two financial incentives given to motivate employees.

1. @RET R v ReTe 3 o & s RiRae) . 2
Write any two differences between personal selling and advertising.

12. IUHITHT HRE0T iferf-ram & siia SUHHT B fier a1 B & e ffeel 2

Write any two rights available to a consumer under the Consumer Protection

Act.

13. JUHITHISH & gRCDHIUT I 3UHIRHT TREUT & BT &l T farae| 2
Write any two importance of consumer protection from the consumer's point
of view. :

14. 959 & fafig Wi 31 Twsse| | 3
Describe the different levels of management.

15. faggiaxor g1 &? s9o! & fadivam forRau 3
What is demonetization? Write its two features.

3141 / OR
AT JEHT P fole AR FATaRvT B THeT Fof FHewaqu! &? e 3§ qwe|
Why it is important for business enterprises to understand their environment?

Explain in brief.

16. TS wd =0T & we Trew B qHegd | 3
Explain the relation between planning and controlling.

17. SBIARIeT Uoil Bt SMaeTDHAT B THIId B dTet DS i DR feiag| 3
Write any three factors affecting the working capital requirement.

3(d1 / OR

Yoi-giran a7 &7
What is capital-structure? .

18. JiIch Sa=2r ¥ 31T a1 THgTa &7 9 febval T NIl bl e | 5
What do you understand by scientific management? Descﬁbe its any three

principles.

433 (IIX) [:5:] [P.T.O.



19

20

21

22

23

24,

Rt vaweT o1 TR 329 a1 & T faeiar e o i frrofall o) amenfRa &2 s #
qaEA | 5
What is the main objective of financial management and on which three decisions
is financial management based? Describe in brief.
ST & &I B FBRI BT qU BR| 5
Describe the types of organisational structure.

31ar / OR A
T X 3T 0T GHES &7 Faw & B P B H WS AihaT & HeA! Bl Y|
What do you understand by organising? State the steps in the process of
organising as a function of management.
frgfeaxor @I wfthar &1 Jerg # auH Bifsel 5
Explain in brief the process of staffing. '

31ar / OR
Frafepesxor & Wil gar 27 Wil & Al B AR BifoTe |

What is recruitment in staffing? Describe the sources of recruitment.

Prfer o &7 Fie & fafire dwl &1 e # aofe Sifsel | 5
What is directing? Explain in brief the different elements of directing.

=¢] TqufdT g &? 3% Brdl Bl auie HifoTe| 5
What is stock exchange? Explain its functions.

31dar / OR
R SToTR & 379 3T TS 2? D TBRI B T DIfoe |
What do you understand by financial market? Explain its types.

fquor fist o &7 e H $90 ucd Jdige| 5
What is marketing mix? Explain in brief its factors.
31E1/ OR

o= & oT 319 2? 3P 9T ATH &P

What is meant by advertising? What are its merits?
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25. FfciRad srjese @ eamgas ufgr den 36 R & e vt & SR ke
Read the following passage carefully and answer the questions given below-
TS 3ifet B 1. feifies S1eTR & Sre gedt Wi ot wHwan A 5 <8 & 99if IR
T G qT A enfta St F g ag i @1 3w ufrnt s Susisrsit
DI BHH Tod o HISeT IR PR I8 & off Jed Hadl & | 0T IR ITHIhIa & fore soret =11
Hisel, 31 Fiaensit qen T4t 39d dhbie B WY IR § o &

An Auto company P Ltd. is facing a problem of declining market share due to

increased competition from other new and existing players in the market. Its
competitons are introducing lower priced models for mass consumer who are
price sensitive. For quality conscious consumers, the company is introducing

new models in market with added features and new technological advancements.

(@) ¥ TN YAl BT JBIaer Bt 3 fere 0. forfies & v smest sarawnties dsrmn

JIR FifsE| 2
Prepare a model business plan for P Ltd. to meet the existing challenge.
(@) 3 IS B Jr13T B 3R BT 1
Identify the limitations of that plan.
(1) 37T 3 AHBI B G BRA P T8 FT JURT HAT? 2

What measures will you take to overcome these limitations?

% Xk %k Xk %
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